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1. 189 690 0 690 E‘ﬂ A5 [H 124 2 135,00091+23] 270,000
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2. [F1dEehEE] 1,600 1,600 0
1.8+949 1,600 1,600 0
3. [ F 1AL T A AR A H] 16,243 6,813 9,430
1571 Al k4 191740 14,263 6,813 7,450 | 2 I F(AA]) ¢ 550,00090%17 = 550,000
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(ooaxd_l-r)[ﬁ]ﬂLa 1,150,000 6 6.900.000
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o GG IO RECERT)
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4. [F1FA LB AFEL A ED 800 800 0
1.9 800 800 0
2. 58% 25,024| 32,278  -7,254
1.5AZE5E9 25,024 32,278 -7,254
1[2]1=AT4 6,325 6,325 0
12X 940 6,325 6,325 0
2. [2]1=A B 3,125 3,125 0
1. %89 1,375 1,375 0
2.1 4] 1,750 1,750 0
3. [Z1AA AN 14,574 21,828  -7,254
1571 AR A 4RI H] 12,360 18,600 -6,240 | [F]AMA -4 —240,0009) = -240,000
igiﬁ§;1$)[%]*}ﬂiﬁ$¢% : 20,0009 120,000
;:é;jj_li)[%]ﬂ%% ©2,040,0009 %6 12,240,000
[Z]71%2F © -18,360,0009 = -18,360,000
2. 577) A A P AT 2,214 3,228 -1,014|[Z]4BFE @ -3,228,0009) = -3,228,000
ggé;jj_@)[%]mmi‘ﬁ © 369,00091%6 2,214,000
4. [2]5XEE5ED 1,000 1,000 0
1. %89 1,000 1,000 0
371t A9 A uKSF 3,060 1,800 1,260
1.3 59 3,060 1,800 1,260
LIzl nSE4 3,060 1,800 1,260
12959 1,440 1,800 -360| 9 A BF A © -360,0009 = -360,000
2. W5-gH] 1,620 0 1,620 B AEHETY 0 100,00099%137 = 1,300,000
A E sl E] ¢ 120,0009%13] = 120,000
A& EUES 1 200,000913] = 200,000
5.258% A9 24,478 28,272 -3,794
1aFgs &4 8,413 20,652 -12,239
1. WH3ALE Y 8,413 20,652 -12,239
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1. [z]wF3habedd 300 300 0
1. 0% H| 300 300 0
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1. 05 H| 796 796 0
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LIz]FtuZgAdadsA4d 500 500 0
1.+9% 300 300 0
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1. [2]3rsg5A 9 2,800 2,800 0
1. 050 2,800 2,800 0
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2. BARALNEES 6,666 6,174 492
LIFIFASTTaaLAATdsE 1,360 1,360 0
147188 1,000 1,000 0
2. 78T e e 360 360 0
2. [F 1A LA g A 2,749 2,287 462
1. dnkpgn) 2,349 1,887 462|371 4 Z5An)(2HE) ¢ -300,0009 = -300,000
[E+7]1CCTVA 1] © 410,00090*13] = 410,000
2. A9 400 400 0
3. 1AL 2,047 2,017 30
1. dHkE8n) 702 702 0
2931 300 300 0
3. W5 g H] 1,000 1,000 0
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